1.R2 Review2 (Fall 2018)-f18e September 14, 2018

Correct Yesterday's entertainment:
pp. 51-53 #1bdf, 2bdf, 3a, 4a, 5d, 7, 9, 14, 15

P — J— -

Unit 1 Review Ideas WITH proper Mathematical notation/form
describing transformations
knowing your parent functions!!
domain and range; interval notation or set notation
end behaviours AND intervals of increase or decrease roD

absolute value notation fxé /@/ {X/ < 7» g

mapping a point
testing for even vs. odd vs. neither algebraically, starting with f(=X)
inverses of functions

piecewise functions “‘\c_ /\ o, Q(/ U()} M) J.M‘-'
(1.3)
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p. 52 &. Graph the fc:-llowing plecewlse functions. Determine whether each
3 function is continuous or not, and state the domain and range of the

function.
1, ifx << —1
d flx) =3x+2,if—-1=x=3
5, ifx >3
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p. 52

7. Many income tax systems are calculated using a tiered method. Under
a certain tax law, the first $100 000 of earnings are subject to a 35%
tax; earnings greater than $100 000 and up to $500 000 are subject to
a 45% tax. Any earnings greater than $500 000 are taxed at 55%.
Write a piecewise function that models this situation.

f/K}: 0.33 0% x< 00 006

ONTx —r0 000  [0)0d0 <x <£SDO 00O
O.SCy ~(9% lele )(>5OO 060

/;( X=[00 000 l
L(x)=0.37x = 35000 JFO,L(\?)Q/;/DOO«)@
:0-3\\//00 (700> \ - %§OOD 1[ O%\x _ (/700{)
=35000 L = L x= S0 0°0

= 045X ~/0 Oop

-~

L60)= AT 000 +055 (k-S00 000) 01
=000+ 05T — 23y 000 -

= 035X = {0000
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p. 52

9. The fish population, in thousands, in a lake at any time, x, in years is

modelfzd by the ;?(,ll:‘;nif:n;tign" é (“[ )(:é /l[\(&>: & =
T e

This function describes a sudden change in the population at time
x = 6, due to a chemical spill. _QL({—g . B
a) Sketch the graph of the plecewise function. : ;\ 07 A_(\ cl - Q (/ - 3 9\
b) Describe the continuity of the function. - 3

o) How many fish were killed by the chemical spill? - %; .

d) At what time did the population recover to the level it was before

' i
the chemical spill: (J(/}\Qﬂ/\jﬂvx ﬂ(\>

e) Describe other events relating to fish populations in a lake that

might result in plecewise functions.

gyﬁscmwﬁnmowf Z;

7%[@(/@ ) f\)l/l/mﬁ a{’)(:@ gg

() 32600 fish wen #illeef i

o He chamicd spi| :

d Whan does £6c) ke
(7%4 [inew LM\WL(\(M) eW 6Y B : .
Y=Yt 7 L

SE=4y
%?/y
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p- 53 14 Explain why there is no value of £ that will make the following

funcrion continuous.

S5x, if x << — 1
flx) =yx+ hif-1=x=3 —
2x%, ifx > 3

at- XK= y at K= 2
ﬁ&)tj/)( &):)@J_ 4[(3>_>é f(X)j;zX;
+ ES -k >
g:\)CS(’() 7@/»\) - :Q{3>

- :(4){7@ i :,1/( B (D{)
\ ( =2
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P- 53 15, The greatest integer function is a step function that is written as
f(x) = [x], where f(x) is the greatest integer less than or equal to x.
In other words, the greatest integer function rounds any number
down to the nearest integer. For example, the greatest integer less than
or equal to the number [5.3] is 5, while the greatest integer less than

or equal to the number [ —5.3] is — 6. Sketch the graph of f(x) = [x].

y

15.
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